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Introduction and Discussion
There has been discussion around the work item on CSI at SA2#39. This has triggered the following thoughts, which the author of this contribution believes could be relevant for the further discussion.

For simplicity, in the following it is assumed that the UE has DTM capability or multiple RAB capability. 
Assume, there is a standardised way to combine CS bearers with IMS. Even then

1. Each network operator can decide to use the standardised way or not; thus in his network it may be possible or not possible to combine CS bearers with IMS.
2. Some UEs will support the standardised combination of CS bearers with IMS, some will not.

3. Applications in the UE may use CS bearers and IMS at the same time, whether or not the UE supports the standardised combination of CS bearers with IMS.

4. Users may use CS bearers and IMS at the same time, whether or not the UE supports the standardised combination of CS bearers with IMS.

This raises the question what the intended standardisation is trying to achieve beyond the use of parallel bearers? Possible partly answers taken from previous contributions on the work item include

· Charging correlation between CS domain and IMS;

· Control of CS bearers with IMS SIP signalling;

· Capability exchange (with or beyond the standardised presence service).
A related question is: assume there is a standardised way to combine CS bearers with IMS, then who will decide that it is used?

· Will this be a network option, as the feature intends to overcome the limitations of the (GSM) radio network, when it comes to voice over IP?

· Will it be a capability the UE decides to use depending on application request?

The author of this contribution understands that the answers given to these questions so far are strongly correlated to the solutions proposed so far. This seems to hint to a significant lack of common understanding of what SA2 is trying to achieve! What is the added value desired by the combination? To which extent does it require standardisation beyond existing standards? How would the end-users benefit from it and how would it impact their service experience?

Studying different solutions and then identifying which problems we can solve with them, is the wrong approach. Even a feasibility study should have a clear objective and study whether the objective can be achieved with reasonable efforts in standardisation and implementation. Only if the objectives are clear, different solutions can be evaluated and compared with respect to the objectives.
Proposal

It is proposed that the answers to the questions above should be provided for each proposed alternative architecture within the TR. The following is proposed to be documented in the TR to provide guidance for future contributions:
x.y
Solution characterisation

Solutions proposed for consideration in this TR are characterised in part by the high level objectives they aim to meet. In particular, for each candidate solution, the following questions must be answered:

· How is charging correlation between CS domain and IMS provided, if it is provided at all

· How is control of CS bearers with IMS SIP signalling provided, if it is provided at all
· What capability exchange mechanisms, if any, are proposed (with or beyond the standardised presence service).

· How is it determined whether and when to invoke the combination of IMS and CS bearers. For example, will it be a capability the UE decides to use depending on application request, or the network based on its capabilities?
· Is the proposal a network option, a terminal implementation option or an option at some other level ?
· To which extent does it require standardisation beyond existing standards?
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